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‘z-z = Calcalate voltage

CALVOLT: " .
VO=ADOUT*6/4095 ' VO.X X X X X vIndaedeiimisaerd1nldein
R=ADOUT*5//4095 * Remainder ADC mfSouifouumitisudn 13
V1=10*R/4095 CVOVIXX XX Suiruionw lde oy lae iy
R=10*R//4095 wﬁaﬁwamlﬁa'lﬂ'c?qqﬂnmfmﬂuan
V2=10*R/4095 CVOVIV2X X X 11 Relay viodal¥uoinesvyu 404

R=10*R//4095

V3=10*R/4095

R=10*R//4095

V4=10*R/4095

R=10*R//4095

V5=10*R/4095
return
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if AD_OUT=set_value then EQUAL
goto NOT_EQUAL

EQUAL

NOT_EQUAL :

Display:
Debug cls
Debug “12-Bit binary value :",bin12 AD_OUT,cr

:",dec AD_OUT,cr,cr

‘ clear debug display

Debug “Decimal value

Debug “Voltage input
return

:",dec V0,".",dec V1,dec V2,dec V3,dec V4,dec V5," V"

wanulsunaailanaaasSueusiiudunmi VRI0K aufiuenfivihas PC wRemlumausssud

1Sussshathathaaa

12-Bit binary value : 101111010110
Decimal value - 3030

Voltage input 1369963 V

gmmimﬂ"l input voltage
Vin = (5 X AD_OUT)
4095
o AD_OUT = ehgwdiuzas ADC
Tughatiaélo 3030
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